{Q PNEUTREND

R Speed Pad Orbit Weight Air Consumption  Air Inlet  Noise (DB) Uncertainty(DB) Vibration  Working Pressure
Technical RPM mm/inch mm/inch kg/Ib LPM/ CFM inch LpA LWA  KpA KwA m/s® Bar / PSI
e AR
X
Details (] B B E P P B e
90 x 180
53|21 10,000 (3-2/3' x7') 3.0(1/8) 0.89 (2.0) 99 (3.5) 1/4 805/915 3 3.96 6.2 (90)

2 8 & & S

N

& R

. e . i i i i, e i, | . . S, S (— T —

Index No. Description Quantity Index No. Description Quantity Index No. Description Quantity
1 lever 1 19  Bearing(6000zz) 1 37
2 Spring Pin(D3*22) 2 20 Bearing Plate 1 38 Conle Washer 1
2 22 Blade 5 39 RetainingRing 1
4 Plate 1 22 Rotor 1 40 Spindle 1
Muffler Housing 1 23 SpringPin 1 Spacer 0.4THK 1
6 Washer 1 24 Cylinder 1 42 Spacer 0.2THK 1
vave 1 25 1 43 4
8 Spring 1 26 Front End Plate 1 44 Washer 4
9 ORRg 1 27 Bearing(6001zz) @ 1 45 NvShrod 2
10 Inlet Bushing 1 28 O-Ring 1 46 Threaded Insert 4mm 2
1 29 lockRing 1 41
1 30 1 Shroud Seal

1 Screw(M4*6) 4
1 51 PadBacking 1
16 Cover 1 34 Spacer0.25THK 1 52 Screw (M4*10) 4
17 Housng 1 35  Bearing(6001zz) =~ 1 53  Screw(Mé*14) 1
18 Retaining Ring 1 36 Spacer0.2THK 1 54 Pad 1

* Due to our continuous improvement, all specifications are subject to change without prior notice.
2411



